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09.03.2021 Max. Marks: 80

General Instructions:

(a) This question paper comprises two Parts — A and B. There are 32 questions in the question paper.
(b) All Questions are compulsory.

(c) Part A is compulsory for all candidates.

(d) Question nos. 1 to 13 and 23 to 29 are very short answer type questions carryingl mark each.

() Question nos. 14 and 30 are short answer type—I questions carrying 3 marks each.

() Question nos. 15 to 18 and 31 are short answer type-II questions carrying 4 marks each.

(8) Question nos. 19, 20 and 32 are long answer type-I questions carrying 6 marks each.

(h) Question nos. 21 and 22 are long answer type—II questions carrying 8 marks each.

(i) There is no overall choice. However, an internal choice has been provided in 2 questions of three marks, 2
questions of four marks and 2 questions of eight marks.

() Draw appropriate formats.

(k) Use of Calculators is NOT Allowed.

Part- A
r for Profi izati rtnershi
Heena and Sudha share Profit & Loss equally. Their capitals were %1,20,000 and %80,000 respectively. 1
There was also a balance of 260,000 in General reserve and revaluation gain amounted to X15,000. They
admit friend Teena with 1/5 share. Teena brings 90,000 as capital. Calculate the amount of goodwill of
the firm.

a) 85,000  b)21,00,000 ¢) 20,000  d)Z 95,000

A,B and C were are partners in a firm sharing profits in the ratio of 3:4:1 ‘They decided to share profits]
equally with effect from 1 .4.2019. On that date the profit and loss account showed the credit balance of 2
96,000.instead of closing the profit and loss account it was decided to record an adjustment entry
reflecting the change in profit sharing ratio .In the Jjournal entry:

a) Dr. A by 24,000; Dr. B by 216,000; Cr C by 220,000

b) Cr. A by %4,000; Cr. B by %16,000; Dr C by 220,000

¢) Cr. A by 216,000; Cr. B by %4,000; Dr C by 320,000

d) Dr. A by 16,000; Dr. B by %4,000; Cr C by 220,000

The net assets of the firm including fictitious assets of 5,000 are ¥85,000.The net liabilities of the firm are ]
330,000.The normal rate of return is 10% and the average profits of the firm are 8,000.Calculate the
goodwill as per capitalization of super profits.

(2) 220,000 (b) 230,000  (c) 225,000 (d) 740,000

Page 1 of 10



10

11

12

13

Saurabh, Shirin and Somesh are partners in a firm sharing profits and losses in the ratio of 3:2:1. Somesh 1
retires and the new profit sharing ratio between Saurabh and Shirin is 3:2. The gaining ratio between
Saurabh and Shirin will be :

(a)3:2 (b) 3:1 () 1:1 (d)2:1

Mohit and Rohit were partners in a firm with capitals of Z 80,000 and ¥ 40,000 respectively. The firm 1
earned a profit of ¥30,000 during the year. Mohit’s share in the profit will be :

(a) Z 20,000 (b) 10,000 (c) 15,000 (d) 18,000

In case of retirement of a partner, profit or loss on revaluation of assets and re-assessment of liabilities is 1
distributed among partners in ratio.

Vanya Ltd. forfeited 20,000 equity shares of ¥ 100 each for non-payment of first and final call of X 40 per
share. The maximum amount of discount at which these shares can be re-issued will be :

(a) ¥ 8,00,000 (b) ¥ 12,00,000 (c) 20,00,000 (d) 20,000
means any offer of securities to a select group of persons by a company other than by way of1
public offer

A, B and C were partners sharing profits and losses in the ratio of 2:2:1. Books are closed on 3 1 March 1
every year. C died on November 5, 2018. Under the Partnership deed the executors of the deceased partner
are entitled to his share of profit to the date of death calculated on the basis of last year’s profit. Profit for

the year ended 31 March, 2018 was 32,14,000. C’s share of profit will be

(a) 328,000 (b) 232,000 (c) 228,800 (d) 348,000
Which of the following does not result into reconstitution of a firm? 1
(a) Dissolution of partnership firm. (b) Dissolution of partnership.
(c) Change in profit-sharing-ratio of existing partners. (d) Death of partner.
Jaipur Club has a prize fund of 26,00,000. It incurs expenses on prizes amounting to X 5,20,000. The 1

expenses should be

(a) debited to income and expenditure account.

(b) presented on the asset side of the balance sheet.

(c) debited to income and expenditure account and presented on the asset side of the balance sheet.
(d) deducted from the prize fund on the liability side of the balance sheet.

In case of dissolution, total creditors of the firm were % 40,000; creditors worth 10000 were given a piece 1
of furniture costing ¥8000 in full and final settlement. Remaining creditors allowed a discount of 10%.

What will be the amount with which cash will be credited in the realisation account for payment to
creditors:

(a) 328,000 (b) 27,000 (c) 20,000 (d)%25,000
A and B are partners in a firm sharing profits in the ratio of 3 : 2. They decided to share future profits 1
equally. Calculate A’s gain or sacrifice

(a) 2/10 (sacrifice)  (b) 5/10 (gain) (c) 1/10 (Gain) (d) 1/10 (sacrifice)
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14 How will you deal with the following items while preparing the Income and Expenditure Account for the 3
year ending on 31st March, 2019:

Particulars Amount(R)
Stock of Sports material (01-04-2018) 1,20,000
Amount paid to creditors (during 2018-19) 6,00,000
Creditors for Sports Materials (01-04-2018) 2,00,000
Creditors for Sports Materials (31-03-2019) 160000
Sports Material sold During the year (Book Value X70,000) 30000
Cash Purchases of Sports Material (During the Year 2018-19) 2,60,000There

was zero stock at the end of financial year 2018-19.

Calculate the amount of Subscription to be credite(? tRo Income and Expenditure account for the year
2019-20.
Particulars Amount(3)

Amount received during the year (including X 20,000 for 2018-19, % 30,000 for 7.80,000
2020-21 and % 10,000 for 2021-22)
Subscription received in advance as on 01-04-2019(including X 30,000 for 70,000
2020-21)
Subscription in arrears as on 01-04-2019 80,000
Subscription in arrears as on 31-03-2020 50,000

Out of subscription in arrears on 01-04-2019, X 15,000 are no longer recoverable.

15 Sajal and Sanskar are partners in a firm sharing profits in the ratio 2 : 3. Their capital accounts as on April 4
1, 2019, showed balances of T 70,000 and Z 60,000 respectively. The drawings of Sajal and Sanskar during
the year 2019-2020 were T 16,000 and % 12,000 respectively. Both the amounts were withdrawn on 1st
January 2020. It was subsequently found that the following items had been omitted while preparing the
final accounts for the year ended 31st March, 2020:

(i) Interest on capitals @ 6% p.a.;
(ii) Interest on drawings @ 6% p.a.;
(iii) Sajal was entitled to a commission of X 4,000 for the whole year.
Showing your workings clearly, pass a rectifying entry in the books of the firm.

OR
A and B are partners sharing profits equally their capitals at end of 2020 are X 3,50,000 and < 2,20,000
respectively. During the year ended 31 Dec. 2020, A’s and B’s drawing were % 20,000 and X 15,000
respectively. Interest on drawing debited to them ware T 1,000 and X 750 respectively. Profits (before
allowing interest on capital but after charging interest on drawings) during the year were ¥ 40,000.
Calculate interest on capital @ 10% p.a. for year ended 31 Dec. 2020.
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16 Fill the missing figures in the following journal entries:

17 What journal entries would be recorded for the following transactions on the dissolution of a firm after
various assets (other than cash) on the third party liabilities have been transferred to Realisation Account?

18

To Share Forfeiture a/c
(Forfeiture of 500 shares of X each)

Date | Particulars L | Dr(®) Cr®
F
Share Capital A/c Dr | |
To Calls in Arrears a/c

................

( Profit on 300 shares transferred to capital
reserve a/c)

Bank a/c Dr 2,100
Share Forfeiture a/c Dr | | e
To Share Capital | |
(Reissue of 300 shares @-------- per Share)
................ alc Dr
TO e a/c

.................

1. Arti took over the Stock worth X 80,000 at T 68,000.

2. There was unrecorded Bike of 40,000 which was taken over by Mr. Karim.
3. The firm paid ¥ 40,000 as compensation to employees.

4. Sundry creditors amounting to % 36,000 were settled at a discount of 15%.

Raju and Jai commenced business in partnership on April 1, 2019. No partnership agreement was made
whether oral or written. They contributed %4, 00,000 and Z1,00,000 respectively as capitals. In addition,

Raju advanced %2,00,000 as loan to the firm on October 1, 2019. Raju met with an accident on July 1,

2019 and could not attend the business up to September 30, 2019. The profit for the year endedMarch 31,

2020 amounted to ¥50,600. Disputes have arisen between them on sharing the profits of thefirm.

Raju Claims:

(i) He should be given interest at 10% p.a. on capital.
(ii) Interest on loan should be given @ 10% p.a.

Jai Claims:

(i) He should be allowed remuneration of 21,000 p.a. during the period of Raju’s illness.

(ii) Profit should he distributed in the proportion of capitals.

State the correct position on each issue as per the provisions of the Partnership Act. 1932.

Page 4 of 10

4

4



19 Following is the Receipt and Payment Account of Indian Sports Club for the year ended 3 1' March

20

2020.
Receipt and Payment Account for the year ending 31°* March 2020
®) ®)
Balance b/d 7,890 Salary 11,000
Subscriptions 52,000 | Electric charges 5,500
Life membership fee 2,200 Billiard Table 17,500
Entrance fee 3,200 Office expenses 4,100
Tournament fund 26,000 | Printing & Stationery 2,300
Locker Rent 1,250 | Tournament expenses 18,500
Sale of old sports equipment 2,500 | Repair of ground 2,000
(CostingZ 2,200) Furniture purchased 7,700
Sale of old newspaper 750 | Sports equipment 12,000
Legacy 37,500 | Cashin hand 12,690
Cash at bank 10,000
Fixed deposit (on 1.01.2020 for
10%p.a) 30,000
1.33.290 1.33.290

Other Information:
(a) Subscription outstanding was on 31% March 2019 Z 1,200 and Z 3,200 on 31° March 2020.
(b) Locker rent outstanding on 31* March 2020 % 250.
(c) Salary outstanding on 31* March 2020 % 1,000.
(d) On April 1, 2019, club has Building Z 36,000, furniture ¥ 12,000, and Sports equipment ¥ 17,500
(¢) Depreciation charged on these items @ 10% (including Purchase).
Prepare Income and Expenditure Account
(i) Raman Limited purchased a running business from Kamal Traders and it was decided to pay for
purchase consideration as Z 3,00,000 by cheque and for the balance issued 10,000 9% Debentures of %
100 each at 20% premium.
The assets and liabilities consisted of the following:

Particulars Book Value(¥F) Agreed Value(%)
Plant and Machinery 5,00,000 4,00,000
Buildings 10,00,000 6,00,000
Stock 6,00,000 5,00,000
Sundry debtors 4,00,000 3,00,000
Sundry creditors 2,50,000 2,00,000
Record necessary journal entries in the books of Raman Limited.
OR

(i) On Ist May, 2019 VKR Ltd. issued 10,000, 9% Debentures of ¥ 100 each at a discount of 10%
redeemable at par after five years. All the Debentures were subscribed. It has a balance of Z 60,000 in
Securities Premium Reserve which the company decided to use for writing off the losses and also decided
to write off the remaining discount on issue of debentures.

Pass necessary Journal entries for Issue of Debentures and writing oft Discount on Issue of Debentures.

Page 5 of 10



21

X and Y are in a partnership sharing profits and losses in the ratio of 3:2. Their balance sheet as at
31**March 2020, was as under:

Liabilities Amount Assets Amount
) ®)
Creditors 15,000 | Cash 5,000
General Reserve 12,000 | Debtors 20,000
Workmen Compensation Reserve 18,000 | Less: Provision __800 19,200
Capital Accounts: Patents 14,800
X 60,000 | Investments 8,000
c ‘i A . 30,000 | Fixed Assets 90,000
urren ceount: 3
X Goodwill 10,000
v 10,000
2,000
1,47.000 1.47.000

They admit Z for 1/5™ share into partnership on 1** April, 2020 on the following terms:
a) A provision of 5% is to be created on Debtors
b) Value of investment to be increased to ¥ 10,000
¢) Value of fixed assets to be reduced by ¥ 5,000
d) Claim on account of Workmen Compensation is estimated at % 10,000.
e) Mr. Ajay, to whom % 5,000 were payable (already included in above creditors), drew a bill of

exchange for 3 months which was duly accepted.
f) Z to bring in capital of ¥ 20,000 and ¥ 12,000 as premium for goodwill in cash.

You are required to pass the necessary journal entries in the books of firm.

OR
The Balance Sheet of Ashish, Suresh and Lokesh who were sharing profits in the ratio of 5 : 3 : 2,
isgiven below as on March 31, 2020.
Balance Sheet of Ashish, Suresh and Lokesh (As on March 31, 2020)

Liabilities Amount Assets Amount
) ®)

Capitals: Land 4,00,000
Ashish 7,20,000 Building 3,80,000
Suresh 4,15,000 Plant & Machinery 4,65,000
Lokesh 3.45,000 14,80,000 | Furniture & Fittings 77,000
Reserve Fund 1,80,000 | Stock 1,85,000
Sundry Creditors 1,24,000 | Sundry Debtors 1,72,000
Outstanding Expresses 16,000 | Cash in hand 1,21,000

18.00.000 18.00,000

Suresh retires on the above date and the following adjustments are agreed upon his retirement.

a) Stock was valued at  1,72,000.

b) Furniture and fittings were valued at ¥ 80,000.
¢) An amount of 210,000 due from Mr. Deepak, a debtor, was doubtful and a provision for the same

was required.
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22

d) Goodwill of the firm was valued at Z 2,00,000 but it was decided not to show goodwill in the books
ofaccounts.
e) Suresh was paid ¥ 40,000 immediately on retirement and the balance was transferred to his
loanaccount.
f) Ashish and Lokesh were to share future profits in the ratio of 3:2.
Prepare Revaluation Account & Capital Account of the partners.
ZX Limited invited applications for issuing 5,00,000 Equity shares of ¥ 10 each payable at a premium
of ¥ 10 each payable with Final call Amount per share was payable as follows:

On Application Z2
On Allotment Z3
On First Call 22
On Second & Final Call Balance

Applications for 8,00,000 shares were received. Applications for 50,000 shares were rejected and
theapplication money was refunded. Allotment was made to the remaining applicants as follows

Category Number of Shares Applied Number of Shares Allotted
I 2,00,000 1,50,000
I 5,50,000 3,50,000

Excess application money received with applications was adjusted against amount due on allotment.
Balance, if any, was adjusted towards future calls. Govind, a shareholder belonging to category I, to
whom 1,500 shares were allotted, paid his entire share money with allotment. Manohar belonging to
category II, who had applied for 11,000 shares failed to pay 'Second & Final Call money'. Manohat's
shares were forfeited after the final call. The forfeited shares were reissued at T 10 per share as fully
paidup.
Assuming that the company maintains "Calls in Advance Account” and "Calls in Arrears Account",
passnecessary Journal entries for the above transactions in the books of ZX Limited.

OR
JK Ltd. invited applications for issuing 50,000 equity shares of Z 10 each at par. The amount
waspayable as follows :

On Application % 2 per share
On Allotment T 4 per share
On Firstand Final Call: ~ Balance Amount

The issue was oversubscribed three times. Applications for 30% shares were rejected and
moneyrefunded. Allotment was made to the remaining applicants as follows :

Category Allotted Number of Shares Applied Number of Shares
[ 80,000 40,000
I 25,000 10,000

Excess money paid by the applicants who were allotted shares was adjusted towards the sums due on
allotment. Deepak, a shareholder belonging to Category I, who had applied for 1,000 shares, failed to
pay the allotment money. Raju, a shareholder holding 100 shares, also failed to pay the allotment
money.Raju belonged to Category II. Shares of both Deepak and Raju were forfeited immediately after
allotment. Afterwards, first and final call was made and was duly received. The forfeited shares of
Deepak and Raju were reissued at Z 11 per share fully paid up.

Pass necessary journal entries for the above transactions in the books of the company.
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Part-B
A is of Financi m
State the primary objective of preparing cash flow statement.
From the following information, calculate the amount of cash flow from investing activities. Acquired
machinery for Z 10,00,000, paying 10% immediately in cash and accepting a draft for the balance in
favour of the vendor, payable after three months.

State giving reason, whether issue of shares for consideration other than cash will result into inflow,
outflow or no flow of cash.

Which of the following is not a tool of financial analysis?
(a) Comparative income statement (b) Comparative position statement
(¢) Statement of profit and loss (d) Cash flow statement

Which of the following is a limitation of financial analysis ?

(a) It is just a study of reports of the company.

(b) It judges the ability of the firm to repay its debts.

(¢) It identifies the reasons for change in financial position.

(d) It ascertains the relative importance of different components of the financial position of the firm.

As per Schedule II1, Part I of the Companies Act, 2013 “calls-in-arrears’ will be presented under which
of the following head/sub-head, in the Balance Sheet of a company ?
(a) Reserves and Surplus (b) Current Liabilities (c) Contingent Liabilities (d) Shareholders Funds

‘Interest accrued but not due on loans’ is shown in the company’s balance sheet under the sub head

From the following details, calculate interest coverage ratio:
Net Profit after tax Z 60,000

15% Long-term debt T 10,00,000

Tax rate 40%.

OR
X Ltd., has a current ratio of 3.5:1 and quick ratio of 2:1. If excess of current assets over quick
assetsrepresented by inventories is T 24,000, calculate current assets and current liabilities.
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31 From the following Balance Sheet of R Ltd. Prepare a Common Size Statement
Balance Sheet As at 31% March. 2019 and 2020
Particulars Note No. 31.3.2019 31.3.2020
) )
I Equity and Liabilities
1. Shareholder’s Funds:

(a) Share Capital 2,00,000 2,50,000
(b) Reserve and Surplus 60,000 80,000
2. Current Liabilities: 40.000 70.000
(a) Trade Payable 3.00,000 4.00,000
Total
II Assets
1. Non-Current Assets:
(a) Fixed Assets:
(i) Tangible Assets 1,20,000 1,60,000
(ii) Intangible Assets 30,000 20,000
2. Current Assets 30,000 80,000
() Inventories 1,00,000 1,20,000
(b) Trade Receivables 20.000 20.000
(c) Cash and Cash Equivalents 3.00.000 4.00.000
Total
OR
Prepare Comparative Statement of Profit & Loss of “V Ltd.” from the following :
Particulars 31.3.2020 }) 31.3.2019 %)
Revenue from Operations 20,00,000 10,00,000
Cost of Material 15,00,000 6,00,000
Consumed
Other Expenses 12% of cost of material 10% of cost of material
consumed . consumed
Tax rate 40% 30%

32 Following are the Balance Sheets of Murthy Ltd. as on 3 1% March 2019 and 2020:

Particulars Note | 2018-19 () | 2019-20(3)
No.
I. EQUITY AND LIABILITIES
(1) Shareholders Funds
(a) Share capital 14,00,000 10,00,000
(b) Reserves and Surplus 1 5,00,000 4,00,000
(2) Non-Current Liabilities
Long term borrowings 5,00,000 1,40,000
(3) Current Liabilities
Trade Payables 1,00,000 60,000
Short term Provisions 2 80,000 60,000
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Total 25,80,000 16,60,000
II. ASSETS
(1) Non Current Assets
(a) Fixed assets
(i) Tangible assets 16,00,000 9,00,000
(ii) Intangible Assets 1,40,000 2,00,000
(2) Current Assets
(a) Inventories 2,50,000 2,00,000
(b) Trade Receivables 5,00,000 3,00,000
(¢c) Cash and Cash Equivalents 90,000 60,000
Total 25,80,000 16,60,000
Notes to accounts
Note | Particulars 2018-19 (%) 2019-20(%)
.No
1 Reserves and Surplus Surplus (i.e. balance 5,00,000 4,00,000
in Statement of Profit and Loss)
2 Short Term provisions
Provision for tax 80,000 60,000
3 Tangible assets
Machinery 17,60,000 10,00,000
Less Accumulated depreciation (1,60,000) (1,00,000)
4 Intangible Assets
Goodwill 1,40,000 2,00,000

Prepare a Cash Flow Statement after taking into account the following adjustment:
(1) Tax paid during the year amounted to 70,000

End of the Question Paper
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